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1. Choose the correct answer 

a. Density of Population per sq.km.in India according to Census 2011 is i)482 ii)382 iii)282 iv)582 

b. According to Census minimum population of a town is i)1000 ii)5000 iii)10,000iv)1,00,000 

c. Census in India first started in which of the following year in India i)1901 ii)1871 iii)1881 iv)1891 

d. Who used the term Conurbation first i)Patrick Geddess ii)Gottman iii)Zimmerman iv)Galpin 

e. 60 percent of migration in india is from i)village to city ii)village to village iii)city to village iv)city to 

city 

f. According to Census 2011 Age Sex Ratio in India is i)942 ii)940 iii)943 iv)950 

g. Growth rate of population is highet in which of the following countries i)Asia ii)Africa iii)South 

America iv)Europe  

h. The most densely populated country of the world is i) India ii) China iii) Bangladesh iv)Australia 

i. The least densely populated country of the world is i) India ii) China iii) Bangladesh iv)Australia 

j. According to 2011 census the most densely populated state of India is i) West Bengal ii)Kerala 

iii)Bihar iv)U.P. 

k. When two roads meet at right angle to each other which type of settlement devlopes i)L shaped ii)Y 

shaped iii)Zshaped iv)N shaped 

l. When a city has a population of around 10,00,000 it is known as i)Tyranopolis ii)Metropolis 

iii)Megalopolis iv)Nekropolis 

m. Who among the following used the term Rurban first i)Patrick Geddess ii)Gottman iii)Zimmerman 

iv)Galpin 

n. According to census which of the following is the lowest administrative unit i)Mouza ii)Revenue 

Village iii)Census Village iv)All of these 

o. Which type of settlement developes along a river or highway i)Rectangular ii)Linear iii)Scattered 

iv)Nucleatd  
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